Tou

el

® o0

@ 2




@ 0.81 © Vo1 © V121
® Vi3 ® o

> o

> E

> FE: ©

> = @

~&B

@ V0.81L2 0.81 9] oFo] Al@Zolm g o.9o]ct,
@ VOIE 0.1 9 g9 AlFgZoltt. 285 AR5HA] ¢l et
3 2 Qirt,

© V1212 121 o] o] AlFLo| 2= 110t}
@ V13 13 9] oFo] Aot 232 AFgSHA] ¢ e
A

4. 4 2
— = — 9 9 AlFTo|ER ——olt},
o 254 o] AlFol : |

@




32 + V22
@ V32 -

@

O VE-VE

(=2)?

@ 25 + (- V2)?

™ ny
[ m
217ﬂ_A|O
Lo
NP e N
Il N
Il [l I+ N
P R
I I
M SN
| 4@@
o (X +
&l 1 ]
L0
[a\} ~—
o
_+\rw_+
10O
ERSBEy
|




4.

6< V8x2 <100l AP o, %

ol

v V. v V¥
0
o
=
|

0
m

~&B

6 < V8x2 <10
36 < 8x2 < 100
45<x? <125
=9

Sox =23




= Aad= b S, ab 9

Fofoal.

(~4)2 o] F2] AFZE a, VI o]
[e]
=

s

5.

-12

(-4)? = 16 = (x4)?
Soa=+4

= (+3)2

81=9
Sob=-3

(+4) x (-3) = -12

cooab =




\/?xﬂl} A7) H 2 5he 7P 42 A4 x & F5tolat

2
?x:mex olBE y=2x3=6 o]t}




7.

2 = \35—x 7} A7} 5| st g x 9] ghe9

@1 @ 3

® 5

@ 7 ®)10

~&B

@ V35-1 = V34 o] 34

57 et

@ V35-3 = V32 °| 1 32

=) gkt

® V35-5 = V30 °]1 30

57 ¢=

@ V35-7 = V28 °]1 28

57 e

i

i

o

Ly
i

AFa7t ot B R ZA47h
AF57F o BE AL}
AF47t ot B=Z 2HA4=7}

AF57t ot B g 47}

® V35-10 = V35 °|1 25 = 5% °| B2 A% 5 7F Aek.




ohe O ¢tell Eof Sx.> A MeEy xy
Tafolet,
B7]
@ V201 © 150 V2
2

© -\5O-3 ® V010 /2

@ 3V305 ® +0.010 V0.1

» G

> HE: 9

B

DV2>1
© 15> V2
©®-V5<-V3

2
@ V0.1 < \/g
@3V3>5

® V0.01 < V0.1
wabA x =3,y =3 0|22 3x 3 =9 o|t},




9. H=IFT A

Mo

@ 0= Aot R o] A2 2 7ol
@) =17 A AL 22 ol

® V9+ VI6= VO 16 °lth

@ 2v3 = V6 otk

® == #FFolt

—€B
O® =59 AlF %%M
®VI+VI6=3+4=
@ 23 = V22 x
@reF #(ﬂﬂr

\]




@ 2 @ﬁ

V3 3
@7:\/;:\/m<‘/§




11.

a>0,b>0L W 22 A

@ Va2b = ab

@

O]

B

@ Va2b = ab
—Vab? =
® —aVb =

VAKSE
AT

?

—Vab? =bva @ —aVb= Va?b

b
2

—bva

—Va2b

Vb

a




12. 0<a<19®, /2-a)- ia-1)? & AT

@a @ 3a-2 ® -3a+4
@ -5a+3 ® a-3

~&B

0<a<1¥9 M 1<2-a<2 -1l<a-1<0°]E2=2
(FA) =12-al - |2(a-1)]

=2-a)-{-2(a-1)}

=2-a+2a-2

=a




13. /(V3-1)2 + /(V3-2)2 & Aststole,

>
D pal= 1

od =

B
V3-1>00122 /(V3-1)2=3-1
V3-2<00|B&
V(V3-2)2=—-(V3-2)=-V3+2

L (VB-1)2+ (V3 -2)2
=V3-1-V3+2=1




14. ©g F fels 25 g IR Fetele

. V4, 0.13, 6.2345235 - --




A —

o
<+ N
il g
w G)
Y
_.E._ =
4 - =
L0
) S
o @ o
L0
e 2 o T
o3 = 8 &y 4+ ﬂ
_11r T - ™ _
.%_ S © il .
1| | N 1_1_ (]
< s e F
X o s = ,,.@‘_ W
.‘W 1_| <t o
Xo 51 W — il B
S =2 ©
T B g =
N ook - =
28 Eg | C
ol ol
R ©

15. o



® 5 A% 07} 1 Aol

@ F T2 V9 & Vi6 Aol

1

o3
<k
Gl

44 g1 vet

&
A
<
<M
bl

1

‘@4&&&@

AN SR,

= 4 Afole] £

=
pu—




@4> V3+2 @ VII-3> VII- V8
T 1
® 3> V13 @ \/;<§
® 2+ V2>2+ 3
D4-V3-2=2-3>0
4> 342
o VII-3-(VII-V8) =-3+ 8
=-V9+V8<0
Lo VII-3< V1I- V8

®2+ V2-(2+ V3) = V2- V3 <0
L 24V2<2+4 43




18.

V& = 4 2 1], 4 9| 3H& Fatolat,




19.

V2= VB2 + /(2 + VB)? © A& 7heho] ohw?

O V5
@ 4

B

20 @25
® 2V5+4

VE>2o0|B22

V(@- V52 + /(2+ V52 =2+ V5 +2+ 5

=245




20. 2< V2x <4 & WEShs A 19 A5E?

O3 @4/  O5A @67H ® 7

2< Vox<4E4<2x<16°|th kA 2 < x <8 0|ER
A4 x =2, 3, 4, 5, 6, T2 670t}




21.

9 o] AlF

> E

> =g 2

T 22 49 25 o Alud

%Aﬂ%
9 o] AlE2

9Qﬂ111ﬁ




® -Va2=a

=da

@) (- vay?

® (V) =~
@

® -\/(-a)?=a

(—a)? =-a

a__

__ __ ﬁﬁ

@@@@




S

2 yaoleh.

i

® T adAFE

@) va

a o] Fo Aot (ae

L
L

o] Ago] Slct.

©
=




24. thgol oS SEE THE 2L

@ AlFste] 25 7F He 5

© AEstA 16 o] == 5
© AlFsto] 1 o] i 5
@ AlFste] 0 o] Hi= 4
® AlEste] -97

P
rr
4

D 050401,@0,0 -3

@ +5,0+4,©+1,0,03
@@ +5,© +4, ® 1, @ 0, @ itk
@ Q@5 0 +4,© £1,@0,® ot
® O+5,0+4,© 1,0, @ gt

(A&t a7t H= ) = (@9 AED)

= (
AEsiA -9 7t == = flok




25. thg % olulshe Zlo] ThE shi?

@ 9 9 AlEL
@xﬂ%% 9
® AlFst 9 7} =& 4
@ x> =9E WFst=x W
® =3




